[image: image1.png]PHY 3062 (and PHY 3513) NAME and (Last 4 SSN): MU?’P
“Thermal Physics” Fall 2002

Quiz 6 (5 points) 11 October 2002

Professor Mark W. Meisel

PLEASE PRINT and box final results. Show all work for full credit.
Work must be clear and unambiguous for credit.

One kilomole of an ideal monatomic gas, cp = %R, is the working substance of a Carnot engine.
During the isothermal expansion, the volume doubles. The ratio of the final volume to the initial
volume in the adiabatic expansion is 5.7. The work output of the engine is 9 x 10° J in each cycle.
Compute the temperature of the reservoirs between which the engine operates.
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